12.125
9.750
7315
5000 6 X #10-32 HELICOIL Insert = 1.5 * Dia.
2.625
0.250
12.375
A
ft— 12 x #8-32 HELICOL Insert
DO NOT BREAK THRU
5 x #10 SHCS CTRBORE 3.800 1.900 1.900 3.800
)
(r )
. |5
R0.500 I
4 PLACES 3
N
@{} | b
[ 8
| 3
I8
o
o & g
3 S
~ |
) 41 e
3 (-
I
9
R0.419 | R0.250 °
6 4 PLACES 4PLACES 8 s
ol I &
3 P
5
i =/
o
) = = 4
o [
§ I
- i r r r r i
0.250 |
6.188 1 A
12.125
9.750
7315
5.000
2.625 6 X #10-32 HELICOIL Insert = 1.5 * Dia.
0.250
: : =
(©- O - ®- O dl 8
v : : : : : 3
3 10.983
=
o 10.645
. 1
! ,
1
1.000 10.375
SECTION B-8

9.500

4 x #8-32 HELICOIL Insert = 1.5 * Dia. 0.104
77'
o o
g e
8§ {-t
~| ©|
o
o
g
|
ry
Y
o
B
8
.n
o
8 %
Il
o
3
g
|
? SECTION A-A
NOTES:

6.500

2.000

1. REMOVE ALL BURRS & SHARP EDGES

2. TO BE MADE FROM FLAT TOOLING/JIG PLATE

DIMENSIONS:

TILE:

2315

INCH

Aluminum - see notes
See notes

SZE [DWG. NO!

Reversed KB100-200
Enclosure Outboard

REV.

SCALE 11 |

2

1

[ sHEeT10F L




